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Abstract

In this paper we discuss the following mathematical model I:

Find an X = (x,, %3, -, x,) satisfying the constraints

Z xj=m (m>=n integer)

i=t
xj =1 integer, j=1,2,-+,n

such that the objective function

y = min {Cjx;}

1<j<n
achieves the maximum, where C; (=1, 2,-++,n) are positive constants. Without loss of
generality, we may assume that ¢, < ¢, << -+ < ¢

ne

The main result is:

Theorem 1. For the model T there exists necessarily an optimal solution X=(x,%,5°"",
x,) satisfying the following condition
cx(xy — 1)< min {Cjxj} k=1,2,---,mn, e))
1<j<n
Moreover, every feasible solution satisfying condition (1) is necessarily an optimal solution.

A procedure of the quasi-polynomial algorithm is established for finding an optimal so-

lution to the model I.
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BWRL R—X = (2, 12 -5 ) WRTIIARKM
JZ xi=m (m>=n LA,

i=1

lxi>1 E%%ﬁn j=1, 2y,
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@Eﬁ?@ﬁ y = 121ii2n {iji} W%ﬁﬁrﬁ‘? Ci(j =1,2,", ") igjbﬂz?%,ﬁ. ;ﬁg‘i"
&ﬁsiji& L < ¢y,
St ERERE, [1IREREZE « (F=1,2, -, n) ARBWBEL TAHT —F R
FdL, REHRME T ABOR IS E, Wik, MBI BB, [1] HRERE T HRENR
o RS TR, A T R AL KB A RR B RS TR
BEER, HEXUWEFATRER 10,

§ 1. REBBIFIAIFHRME

HFERE T BOAEWTER:
Rl BRI AEE—NERNE X = (x50, x) WRINT K
ck(xk_l)< 1n<1iin<n{cixj}’ k=1> 2y 005 m, (1>

Rz, N R & (DT —EREE T RRUE.
R, 12 H(XD élgliign{wxi}, FILEE cn; BUUNOTAROG fo.

B X = (2, x5 005 x,) BEMINERRBERAHEESE (1D, RIFELE k€ {1,
2,---, n} {15
ey — 1) = f(X) =cjpx;, (k710
i
c]U(xjo +1) > €5 %o
FRED X = (xl, 2}y -, x) REXBH
(X)) = (X)),
Hrh
[o—1, H i=k,
xp=<x;+ 1, Y 1=/, @2
t/s Bog =k, .
BER X BRI, ok £(X) = (X),8 X' R, 3 X' WS, BHER L Lne
iy PIARTRE AL, HD
aly— 1) > (X)) =cx,  (k#i)s
PAREHE EREDE, LERE—AaE X7 B (X)) =1(X) =f(X). ¥ X" fis,
A R(DWET 2 SRS BE o XBOT 1. Ik TEEARRFL, Bl RE—1
B XO, {(X©) =f(X) HIEH kLR SBHEREQ)., ZHE—K,X X® @5,
AEROBEBRERD T —1.
FEE Y L, ARSI —ARLE X9, f(X?) = {(XV)y={(X), BEHARE
EB(DIERL X© XBRLT—4. XBESREENE, REQANEBRTGE, 8K
AR (1) b e S BRA 1, [ or BUR/NOTERR 1 SRS RN 1 iR



10 HEUTR ST ENLY A 1986 4

£ RAE, X ERERE (X)) Kb . Hib, BRBEAG(DRA R, B2—)aE
RE DA IE(D, TR, S T, S AR R, AT E R A (1D
B, .

BUIEE B 85, BB RO TR X = (v 5o- -5 10) FE BRI,
WA — AR X = (3, )y o5 ) 6 (X)) = f(X), H

CiXi, = f(X) < f(X’) < ‘Jox;'(,’
pINa
X < x,

szi= Zx;’=m, ’é&ﬁ@?é‘ﬁi ile{lazy"':jo—laio+1""}”}@&?%
i i

H

’ r
i, >x, Bl x <% —1,

TEHXFHEAAHQ)TAE
fXD) < o7, < o (v, — 1) < f(X),

B (X)) < £(X), B 5EETIE.
§2. R ] WEEER

TEERMNEY kA 1 RRBROEERF.

B RILREERER.

(=) &F m=n, WBREHBLH X=(U,1,-+-, 1),
(Z) & m>n, Ul

U ERSRE X' =(2,1,1,-+-,1);

2R FWRA X = (x5, 10505 1), A

”

Z x;j << m,

# min {citj} = cjxj, CFEBE RN 1o Rik—1, MRFEEE ER TN
BI—124 10), M i + 1 SEIRERE
Xt = (&, 25500, T e B e N Rk

3% XU OEMRL T RURIAT AR, NS ks T 4K AR 2°, B 048 B AT 4T MR OE 4 4L

BIWEZER - EUAEE, FELBIOBRE R Hm— n PR F R IR, B
BB G—FPBE» — L R, —KMEMES » kFE, RMABL (m —n)-
[((n—1) +1+n]l=2r (m—n)RIE., % m=0(0") (« HHHE), BIWHEE
B o) M. E—BIEE, & mx 00, NRINWESERZ 0(s(m — ) 11,
H i =L TR,

BEREET:
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ik mRERS

X=(X (o Xgu00 X))

TE A DERE R EfalE,
EIB 2. REZBEFHFAHOFITRLAEER 1 NERMR.
W, B X =(x,1,,%,) BHEREERFHRAHO DT, SOEEZ
BUU, ROUER X #E E 2 1 AEOBRAIDIT.
i H X AR FME(DLBIEE ke {l, 2, -, n},fH
ey — 1) > f(X) = lr;liir;ﬂ{fix/}.

BEAFK—F, BRAIDEURE » — 1, TE—FNERRREIRART 1(X0, W
WERBERINER 2°,8 A M ERZUARTREE «, R RE EREIES A
FITHR X, WERIEFE.

§3. ®&  #

WRTT AR5, 2l 10 MEBEERR. 31F 100 B &THMT. HE8k
EMLE 7 MMEREEEA o (/R FIRNT:

¢y [ } C3 Cy Cy Ce 23 Cy Cy Cio

3 8 ’ 8 16 18 24 48 56 64 72

e AR &N I ES, TRERTHWEF R IR

. ZEEFE R R BANBRREREER, & o Z2NIE 7 M4 E
B R R 3524

K— X = (x5 2250+, 20) WRTIANREKY

> k=100
£ =1 HA%H, i=1,2, -, 10
EHRES y = min {ox) BEAMK.

<7<

AL S 2 IR B F AR BAISC 2.
10 DIM C%(10), X %(10)
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20 FOR J=1 TO 10

30 READ C% (])> X% ()

40 NEXT J

50 S% ==

60 FOR J=1 TO 10

705% =8% + X% (J])

80 NEXT J

90 IF S% = m THEN 180

100 M % = 10000

110 FOR J =10 TO 1 STEP — 1

120 IF M % < C%(J)* X%(J) THEN 140

130 M% = C%B(D*X%(D: B% =]

140 NEXT J

150 X%(B%) = X%(B%) + 1

160 S% =S% + 1

170 IF §% < m THEN 100

180 FOR J=1 TO 10

190 LPRINT X% (J);

200 NEXT J

210 DATA 3,2,8,1,8,1,16,1,18,1,24,1,48,1,56,1,64,1,72,1

ek EYUBFPAE TRS-80 f8AL LAV, TERT 217, HITENSE R (RIRALH#)A

(40,15,15,8,7,5,3,3,2,2),

BN BATR B R LB IO, 5% ERGHI BASIC BEFRE., RITRI, HEKIH
E K b RBE R & SRR N mak b 1 IRy,

4. W

A1 EBE LT,

ETAZHENTERNTA-TE2AEES, BEERTHENNHNZR»NE
HHMTES. BEAE i GRENT—AFBHERBEREN o UM, BEE » k&,
M & B IR & | REANMTES, S RETENESTRERR?

% 5 AE T BREMTRARAE N BRI R AT LTI EERR.

BrE IL k— X = (2, 1350075 %5) WRTIILR& M

JZ x = m(m=n BAEH),
ixi>0 H%%ﬁ)7=19 2,000, m,
W EFREE y = max {cjr} BRBUME. Ffe(G=1, 2,7, n) BAEREL A%K—
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B, ARG o << <c,,
AL BB SR 1 +o6R, HGAEER 1 N—FEFEaRUAkLR
BRI, TR O, RIITA
EE 3 BE U BEE-NERNE X = (0, 1,005 1) BROTFMAF
cp(xy +1) > max {cjxj}, k=1,2,-+-,n, (3)

1<i<n
Rz, MR FBGEITR—EEEE I RILE.
IERART e 2R 1 31T,
BE I RRENREEFNT:
I ERBEREHEAZ 0> - = 2] WPRTTHEX = (0, 25,5 203
2°% i FHIN X' = (x5, 15500 5x0) B

max {c;x;} == c,x,
1<ji<n

CEEA RN « RiE—A MBRERE—NMER »). WREFEE ke {l, 2, -, n}
el + 1) < c,x,
CEEE R & R IE—A MBS/ —MEA &), WEEE ¢ + 1 FRIMEA
X' = (&1, 255000 x0),s
Hr
iy M7=k u,
x=qx, +1, ¥ =k,
x,— 1, Y j=u,
3° 8 X' R EE 3R, NS L B W4kS: 2°, HEREE S FHOCOM T
f 4k,
B HIE R E R RS AR — S TR E .
A XABEPMNRFZRIBEMIEPEEF AT RO = REREL, 8

2 # X ®
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